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BLDC MOTOR FOR STANDARD
S10-500W

o AFZ2E Hel:-20~40°C
« Ar2&X H9l:20~80[%] RH

« Y 53 :1P54

37X} M RHE : 5.54 kg* o

ot $10-A0523 $10-A0533 $10-D0521 S10-D0531
TS v AC220 DC24
LR Watt 500 500
Ao H RPM 2,000 3,000 2,000 3,000
HAE3 N-m 2:30 1.59 2,39 1.59
ZHES (#1) N-m 4.78 3.18 4.78 3.18
JHHT Arms 2.0 18 24.0 21.0
Z|CHH F(#2) Arms 4.0 36 48.0 42.0
Edyds N-m/Arms | 1.27£10% 0.931£10% 0.10%10% 0.08+10%
E2o|t(#3) SMD-A10-Al SMD-DO7-Al

#1,2 ACHES U AR EE H0{7] AL w2} R & H 12 X0 w2t HA JHsEHEX M| 24, 30sec O|LH)
#3. C210|H] AFZA| ZE{ HE ALQFQL,
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S10-A0523 & DO521

Characteristic Curve \\

S10-A0533 & D0531

E 478 ) E 318 )
= Short time op. 3 = Short time op.
g || (EtAZE 2T) : Y o (CrAIZt 27)
5 239 : : : 5 159 - -
= I I = I |
— Continuous op. — Continuous op.
(9 2H) (i 2H)
| 1 I I
400 1,000 2,000 500 1,500 3,000
Speed [RPM] Speed [RPM]
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BLDC MOTOR FOR STANDARD
$10-750W

« AF22k 9| :-20~40°C
« AF8& X 9l :20~80[%] RH

» B S5 :1P54

* 3| ™A} 2 ZHUE : 5.54 kg* e

g5 S10-A0723 S$10-A0733 $10-D0721 $10-D0731
YT v AC220 DC24
R Watt 750 750
A" RPM 2,000 3,000 2,000 3,000
dHE3 N-m 3.58 2:39 3.58 2.39
ZCHEZ(#1) N-m 7.16 4.78 7.16 4.78
HAHF Arms 3.6 3.3 435 40.6
Z|CHE F(#2) Arms 7.2 6.6 87.0 81.2
E3d=s N-m/Arms| 1.01£10% 0.73+10% 0.08+10% 0.06+10%
20|t (#3) SMD-A10-Al SMD-DO7-Al

#1,2 AcHE3 U HHHFE= HO{7| Abo| w2t 225 M D2 @Fo|| w2t $A JHsE(EE H2 2| 28), 30sec O|LH)
#3. E2I0|t] AFRA| ZE| P A AFR,

Characteristic Curve \\

S10-A0723 & D0OT21 S10-A0733 & DO731
T 716 — E 478 _ .\
= Short time op. = Short time op. :
g | (EtMZHEH) g | (EtMZE2H) i
5 358 | : 5 239 ‘ !
= =R | I e | |
— Continuous op. — Continuous op.
(A 2H) (A% 2H)
| | | |
400 1,000 2,000 500 1,500 3,000
Speed [RPM] Speed [RPM]
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S10 DIMENSIONS
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